

## A NOTE ON SCHLÄFLI TYPE MODULAR EQUATIONS OF COMPOSITE DEGREES

MOHANDAS

ABSTRACT. S. Ramanujan documented certain modular equations in his recordings and many mathematicians employed them for the explicit calculation of theta functions, Weber-class invariants, Continued fractions and many more. Motivated by their work, in this paper, we found few modular equations of the similar type.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 33C05, 11F27.

KEYWORDS AND PHRASES. Theta functions, Modular equations.

### 1. INTRODUCTION, NOTATIONS AND DEFINITIONS

S. Ramanujan in his notebook [7][5, pp. 204-237], documented many modular equations. For example, let

$$P = \frac{f(-q)}{q^{1/6}f(-q^5)} \quad \text{and} \quad Q = \frac{f(-q^2)}{q^{1/3}f(-q^{10})}$$

then

$$PQ + \frac{5}{PQ} = \left(\frac{P}{Q}\right)^3 + \left(\frac{Q}{P}\right)^3,$$

where

$$f(-q) = (q; q)_{\infty} = \prod_{n=1}^{\infty} (1 - q^n), \quad |q| < 1.$$

After the publication of [5], many Mathematicians, developed the modular equation of the above type and employed them for the evaluation of theta function, Weber-class invariants, continued fractions and many more. For the wonderful work one may refer [1, 2, 3, 8, 9, 11, 12]. Motivated by the above work, in this paper, we obtain modular equations of the similar type. All through the article, we shall employ the classic  $q$ -notation. The  $q$ -shifted factorial for  $|q| < 1$ , is specified as

$$(x; q)_{\infty} := \prod_{n=1}^{\infty} (1 - xq^{n-1}).$$

If  $|xy| < 1$ , theta function in Ramanujan's general form is declared as follows:

$$f(x, y) := \sum_{n=-\infty}^{\infty} x^{n(n+1)/22} y^{n(n-1)/2}.$$

By Jacobi's triple product identity [[4], p.35], we have

$$f(x, y) = (-x, -y, xy; xy)_\infty.$$

The essential special cases of  $f(x, y)$  [4, p.36], are

$$\phi(q) := f(q, q) = \sum_{n=-\infty}^{\infty} q^{n^2} = (-q; q^2)_\infty^2 (q^2; q^2)_\infty^2$$

$$\psi(q) := f(q, q^3) = \sum_{n=0}^{\infty} q^{n(n+1)/2} = \frac{q^2; q^2)_\infty^2}{(q; q^2)_\infty}$$

$$f(-q) := f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{n(3n-1)/2} = (q; q)_\infty.$$

For any complex number  $\tau$  it is very clear that if  $q = e^{2\pi i\tau}$  then  $f(-q) = e^{-\pi i\tau/12} \eta(\tau)$ , where  $\eta(\tau)$  is the classical Dedekind  $\eta$ -function and is defined as

$$\eta(\tau) := q^{1/24} \prod_{n=1}^{\infty} (1 - q^n) = e^{\pi i\tau/12} \prod_{n=1}^{\infty} (1 - e^{2n\pi i\tau}), \text{ Im}(\tau) > 0.$$

We use the notation

$$\chi(q) := -(-q; q^2)_\infty.$$

For convenience, we write  $f(-q^n) = f_n$ . The purpose of this article is to prove some of strange  $P$ - $Q$  type modular equations of various degrees. Prior to pursue to prove these identities, we select initially to analyze some modular equations and theta-function identities which will be useful in future. A modular equation of degree  $n$  is an equation expressing  $\alpha$  and  $\beta$  that is induced by

$$n \frac{{}_2F_1\left(\frac{1}{2}, \frac{1}{2}; 1; 1 - \alpha\right)}{{}_2F_1\left(\frac{1}{2}, \frac{1}{2}; 1; \alpha\right)} = \frac{{}_2F_1\left(\frac{1}{2}, \frac{1}{2}; 1; 1 - \beta\right)}{{}_2F_1\left(\frac{1}{2}, \frac{1}{2}; 1; \beta\right)},$$

where

$${}_2F_1(a, b, c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n n!} z^n \quad |z| < 1$$

represents an ordinary hypergeometric function with

$$(a)_k = \frac{\Gamma(a+k)}{\Gamma(a)}.$$

Then, we say that  $\beta$  is of  $n^{th}$  degree over  $\alpha$  and call the ratio

$$m := \frac{z_1}{z_2},$$

where  $z_1 = {}_2F_1\left(\frac{1}{2}, \frac{1}{2}; 1; \alpha\right)$  and  $z_2 = {}_2F_1\left(\frac{1}{2}, \frac{1}{2}; 1; \beta\right)$ .

2. MAIN RESULTS

**Theorem 2.1.** *If*

$$P = \frac{\phi^2(q^2)}{\phi(q)\phi(q^4)} \quad \text{and} \quad Q = \frac{\phi^2(q^4)}{\phi(q^2)\phi(q^8)}$$

*then we have,*

$$\begin{aligned} (PQ)^2 + \frac{2}{(PQ)^2} - 4\left(PQ + \frac{1}{PQ}\right) + \left(4\sqrt{PQ} - \frac{2}{\sqrt{PQ}}\right) \left(\sqrt{\frac{P}{Q}}\right) \\ + PQ\left(\frac{P}{Q} + \frac{Q}{P}\right) - 2P^3\sqrt{PQ}\left(\sqrt{\frac{P}{Q}} + \sqrt{\frac{Q}{P}}\right) + 3 = 0. \end{aligned}$$

*Proof.* Let

$$(1) \quad A_n = \frac{\phi(q^n)}{\phi(q^{2n})}.$$

From (1) and together with the interpretation of  $P$  and  $Q$ , we have

$$(2) \quad P = \frac{A_2}{A_1} \quad \text{and} \quad Q = \frac{A_4}{A_2}.$$

Also, from [10, Theorem 4.2], we have

$$(3) \quad A_1A_2 + \frac{2}{A_1A_2} = \frac{A_2}{A_1} + 2.$$

Also, from (2) and (3), we find that

$$(4) \quad \frac{A_1^2P}{\sqrt{2}} + \frac{\sqrt{2}}{A_1^2P} = \frac{1}{\sqrt{2}}(P + 2).$$

On solving (4) for  $A_1^2P/\sqrt{2}$ , we deduce

$$(5) \quad \frac{A_1^2P}{\sqrt{2}} = \frac{k \pm \sqrt{k^2 - 4}}{2},$$

where

$$k = \frac{1}{\sqrt{2}}(P + 2).$$

The identity (5) implies that

$$(6) \quad \frac{\sqrt{2}}{A_1^2P} = \frac{k \pm \sqrt{l^2 - 4}}{2}.$$

On letting  $q \rightarrow q^2$  in (3) and on solving for  $A_2^2Q/\sqrt{2}$ , we have

$$(7) \quad \frac{A_2^2Q}{\sqrt{2}} = \frac{l \mp \sqrt{l^2 - 4}}{2}$$

and

$$(8) \quad \frac{\sqrt{2}}{A_2^2Q} = \frac{l \mp \sqrt{l^2 - 4}}{2},$$

where

$$l = \frac{1}{\sqrt{2}}(Q + 2).$$

On multiplying (5) and (8), then employing (2) and after simplification, we obtain

$$(9) \quad \frac{4}{PQ} = kl \pm l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

On multiplying (6) and (7), then employing (2), we obtain

$$(10) \quad 4PQ = kl \mp l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Adding (9) and (10), and then streamlining, we obtain

$$2 \left( PQ + \frac{1}{PQ} \right) - kl = \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Squaring on both sides, substituting the values of  $k$  and  $l$  and then streamlining, we obtain the desired result.  $\square$

**Theorem 2.2.** *If*

$$P = \frac{\phi^2(q^3)}{\phi(q)\phi(q^9)} \quad \text{and} \quad Q = \frac{\phi^2(q^6)}{\phi(q)\phi(q^9)}$$

*then we have,*

$$\begin{aligned} & 3 \left( (PQ)^2 + \frac{1}{(PQ)^2} \right) - \left( 10PQ + \frac{9}{PQ} \right) - (PQ)^3 \\ & - 3(PQ - 1)^2 \left( \frac{P}{Q} + \frac{Q}{P} \right) + (PQ)^2 \left( \left( \frac{P}{Q} \right)^2 + \left( \frac{Q}{P} \right)^2 \right) + 12 = 0. \end{aligned}$$

*Proof.* Let

$$(11) \quad A_n = \frac{\phi(q^n)}{\phi(q^{3n})}.$$

From (11) and together with the interpretation of  $P$  and  $Q$ , we have

$$(12) \quad P = \frac{A_3}{A_1} \text{ and } Q = \frac{A_9}{A_3}.$$

Also, from [10, Theorem 4.3], we have

$$(13) \quad A_1A_3 + \frac{2}{A_1A_3} = \left( \frac{A_3}{A_1} \right)^2 + 3.$$

Also, from (12) and (13), we find that

$$(14) \quad \frac{A_1^2P}{\sqrt{3}} + \frac{\sqrt{3}}{A_1^2P} = \frac{1}{\sqrt{3}} (P^2 + 3).$$

On solving (14) for  $A_1^2P/\sqrt{3}$ , we deduce

$$(15) \quad \frac{A_1^2P}{\sqrt{3}} = \frac{k \pm \sqrt{k^2 - 4}}{2},$$

where

$$k = \frac{1}{\sqrt{3}} (P^2 + 3).$$

Also (15) implies

$$(16) \quad \frac{\sqrt{3}}{A_1^2P} = \frac{k \pm \sqrt{l^2 - 4}}{2}.$$

On changing  $q \rightarrow q^2$  in (13) and in the similar manner, we deduce that

$$(17) \quad \frac{A_3^2 Q}{\sqrt{3}} = \frac{l \mp \sqrt{l^2 - 4}}{2}$$

and

$$(18) \quad \frac{\sqrt{3}}{A_3^2 Q} = \frac{l \mp \sqrt{l^2 - 4}}{2},$$

where

$$l = \frac{1}{\sqrt{3}} (Q^3 + 3).$$

On multiplying (15) and (18), and employing (12) and after simplification, we obtain

$$(19) \quad \frac{4}{PQ} = kl \pm l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

On multiplying (16) and (17), then employing (12), we obtain

$$(20) \quad 4PQ = kl \mp l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Adding (19) and (20), and then streamlining, we obtain

$$2 \left( PQ + \frac{1}{PQ} \right) - kl = \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Squaring on both sides, substituting the values of  $k$  and  $l$  and then streamlining, we obtain the desired result.  $\square$

**Theorem 2.3.** *If*

$$P = \frac{\psi(q)}{q\psi(q^9)} \quad \text{and} \quad Q = \frac{\psi(q^2)}{q^2\psi(q^{18})}$$

*then we have,*

$$\begin{aligned} & \sqrt{2} \left( PQ + \frac{1}{PQ} \right) \left( \frac{\sqrt{2}P}{Q} + \frac{Q}{\sqrt{2}P} + \sqrt{2} \right) - 2 \left( \frac{P}{Q} + \frac{Q}{P} \right) \\ & + 2 \left( Q + \frac{1}{Q} \right) - \left( \frac{P^2}{Q} + \frac{Q}{P^2} \right) - \left( P^2Q + \frac{1}{P^2Q} \right) + 8 = 0. \end{aligned}$$

*Proof.* Let

$$(21) \quad A_n = \frac{\psi(q^n)}{q^n\psi(q^{9n})}.$$

From (21) and together with the interpretation of  $P$  and  $Q$ , we have

$$(22) \quad P = \frac{A_2}{A_1} \quad \text{and} \quad Q = \frac{A_4}{A_2}.$$

Also, from [6, Theorem 3.2], we have

$$(23) \quad \frac{A_1}{A_2} + \frac{A_2}{A_1} + 2 = \frac{3}{A_1} + A_1.$$

On using (22) and (23), we obtain

$$(24) \quad \frac{A_1}{\sqrt{3}} + \frac{\sqrt{3}}{A_1} = \frac{1}{\sqrt{3}} \left( P + \frac{1}{P} + 2 \right).$$

On solving (24) for  $A_1/\sqrt{3}$ . we deduce

$$(25) \quad \frac{A_1}{\sqrt{3}} = \frac{k \pm \sqrt{k^2 - 4}}{2},$$

where

$$k = \frac{1}{\sqrt{3}} \left( P + \frac{1}{P} + 2 \right).$$

Also (25) implies

$$(26) \quad \frac{\sqrt{3}}{A_1} = \frac{k \pm \sqrt{l^2 - 4}}{2}.$$

On changing  $q \rightarrow q^2$  in (23) and in the similar manner, we deduce that

$$(27) \quad \frac{A_2}{\sqrt{3}} = \frac{l \mp \sqrt{l^2 - 4}}{2}$$

and

$$(28) \quad \frac{\sqrt{3}}{A_2} = \frac{l \mp \sqrt{l^2 - 4}}{2},$$

where

$$l = \frac{1}{\sqrt{3}} \left( Q + \frac{1}{Q} + 2 \right).$$

On multiplying (25) and (28), and employing (22) and after simplification, we obtain

$$(29) \quad \frac{4}{P} = kl \pm l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

On multiplying (26) and (27), then employing (22), we obtain

$$(30) \quad 4P = kl \mp l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Adding (29) and (30), and then streamlining, we obtain

$$2 \left( P + \frac{1}{P} \right) - kl = \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Squaring on both sides, substituting the values of  $k$  and  $l$  and then streamlining, we obtain the desired result. □

**Theorem 2.4.** *If*

$$P = q^{1/2} \frac{f_1 f_{26}}{f_2 f_{13}} \quad \text{and} \quad Q = q \frac{f_2 f_{52}}{f_4 f_{26}},$$

*then we have,*

$$\begin{aligned} & (PQ)^2 + \frac{1}{(PQ)^2} - 4 \left( PQ + \frac{1}{PQ} \right) \left( \frac{P}{Q} + \frac{Q}{P} \right) - \left( PQ + \frac{1}{PQ} \right) \\ & \times \left( \left( \frac{P}{Q} \right)^3 + \left( \frac{Q}{P} \right)^3 \right) + 4 \left( \left( \frac{P}{Q} \right)^2 + \left( \frac{Q}{P} \right)^2 \right) + 18 = 0. \end{aligned}$$

*Proof.* Let

$$(31) \quad A_n = \frac{f_n}{q^2 f_{13n}}.$$

From (31) and together with the interpretation of  $P$  and  $Q$ , we have

$$(32) \quad P = \frac{A_1}{A_2} \text{ and } Q = \frac{A_2}{A_4}.$$

Also, from [10, Theorem 4.2], we have

$$(33) \quad A_1 A_2 + \frac{13}{A_1 A_2} = \left(\frac{A_2}{A_1}\right)^3 + \left(\frac{A_1}{A_2}\right)^3 - 4\left(\frac{A_1}{A_2}\right) - 4\left(\frac{A_2}{A_1}\right).$$

Also, from (32) and (33), we find that

$$(34) \quad \frac{A_1 A_2}{\sqrt{13}} + \frac{\sqrt{13}}{A_1 A_2} = \frac{1}{\sqrt{13}} \left( P^3 + \frac{1}{P^3} - 4P - \frac{4}{P} \right).$$

On solving (34) for  $\frac{A_1 A_2}{\sqrt{13}}$ , we deduce

$$(35) \quad \frac{A_1 A_2}{\sqrt{13}} = \frac{K_1 \pm \sqrt{k^2 - 4}}{2},$$

where

$$k = \frac{1}{\sqrt{13}} \left( P^3 + \frac{1}{P^3} - 4P - \frac{4}{P} \right).$$

The identity (35) implies that

$$(36) \quad \frac{\sqrt{13}}{A_1 A_2} = \frac{k \pm \sqrt{k^2 - 4}}{2}.$$

On letting  $q \rightarrow q^2$  in (33) and on solving for  $\frac{A_2 A_4}{\sqrt{13}}$ , we have

$$(37) \quad \frac{A_2 A_4}{\sqrt{13}} = \frac{l \mp \sqrt{l^2 - 4}}{2}$$

and

$$(38) \quad \frac{\sqrt{13}}{A_2 A_4} = \frac{l \mp \sqrt{l^2 - 4}}{2},$$

where

$$l = \frac{1}{\sqrt{13}} \left( Q^3 + \frac{1}{Q^3} - 4Q - \frac{4}{Q} \right).$$

On multiplying (35) and (38), then employing (32) and after simplification, we obtain

$$(39) \quad \frac{4}{PQ} = kl \pm l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

On multiplying (36) and (37), then employing (32), we obtain

$$(40) \quad 4PQ = kl \mp l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Adding (39) and (40), and then streamlining, we obtain

$$2 \left( PQ + \frac{1}{PQ} \right) - kl = -\sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Squaring on both sides, substituting the values of  $k$  and  $l$  and then streamlining, we obtain the desired result.  $\square$

**Theorem 2.5.** *If*

$$P = q \frac{f_1 f_{50}}{f_2 f_{25}} \quad \text{and} \quad Q = q^2 \frac{f_2 f_{100}}{f_4 f_{50}}$$

*then we have,*

$$x_4 + 16x_3 - 24x_2 + 16x_1 + 4(2x_{1/2} - x_{3/2} - x_{7/2})y_{1/2} + 4(x_{1/2} + x_{3/2} - 2x_{5/2})y_{5/2} - (x_1 - x_3)y_3 + 16(x_1 + x_3)y_2 + 18 = 0,$$

where

$$x_n = (PQ)^n + \frac{1}{(PQ)^n} \quad \text{and} \quad y_n = \left(\frac{P}{Q}\right)^n + \left(\frac{Q}{P}\right)^n.$$

*Proof.* Let

$$(41) \quad A_n = \frac{f_n}{q^n f_{25n}}.$$

From (41) and together with the interpretation of  $P$  and  $Q$ , we have

$$(42) \quad P = \frac{A_1}{A_2} \quad \text{and} \quad Q = \frac{A_2}{A_4}.$$

Also, from [10, Theorem4.2], we have

$$(43) \quad A_1 A_2 + \frac{25}{A_1 A_2} = \left(\frac{A_2}{A_1}\right)^3 + \left(\frac{A_1}{A_2}\right)^3 - 4\left(\frac{A_1}{A_2}\right)^2 - 4\left(\frac{A_2}{A_1}\right)^2.$$

Also, from (42) and (43), we find that

$$(44) \quad \frac{A_1 A_2}{5} + \frac{5}{A_1 A_2} = \frac{1}{5} \left( P^3 + \frac{1}{P^3} - 4P^2 - \frac{4}{P^2} \right).$$

On solving (44) for  $\frac{A_1 A_2}{5}$ , we deduce

$$(45) \quad \frac{A_1 A_2}{5} = \frac{k \pm \sqrt{k^2 - 4}}{2},$$

where

$$k = \frac{1}{5} \left( P^3 + \frac{1}{P^3} - 4P^2 - \frac{4}{P^2} \right).$$

The identity (45) implies that

$$(46) \quad \frac{5}{A_1 A_2} = \frac{k \pm \sqrt{k^2 - 4}}{2}.$$

On letting  $q \rightarrow q^2$  in (33) and on solving for  $\frac{A_2 A_4}{5}$ , we have

$$(47) \quad \frac{A_2 A_4}{5} = \frac{l \mp \sqrt{l^2 - 4}}{2}$$



and

$$(48) \quad \frac{5}{A_2 A_4} = \frac{l \mp \sqrt{l^2 - 4}}{2},$$

where

$$l = \frac{1}{5} \left( Q^3 + \frac{1}{Q^3} - 4Q^2 - \frac{4}{Q^2} \right).$$

On multiplying (45) and (48), then employing (42) and after simplification, we obtain

$$(49) \quad 4PQ = kl \mp l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

On multiplying (46) and (47), then employing (42), we obtain

$$(50) \quad \frac{4}{PQ} = kl \pm l\sqrt{k^2 - 4} \mp k\sqrt{l^2 - 4} - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Adding (49) and (50), and then streamlining, we obtain

$$2 \left( PQ + \frac{1}{PQ} \right) = kl - \sqrt{k^2 - 4}\sqrt{l^2 - 4}.$$

Squaring on both sides and then streamlining, we obtain

$$(PQ)^2 + \frac{1}{(PQ)^2} - kl \left( PQ + \frac{1}{PQ} \right) + k^2 + l^2 - 2 = 0.$$

Finally, on substituting the values of  $k$  and  $l$  in the atop identity and further streamlining, we have the desired result.  $\square$

#### REFERENCES

- [1] C. Adiga, T. Kim, M. S. M. Naika and H. S. Madhusudhan, *On Ramanujan's cubic continued fraction and explicit evaluations of theta-functions*, Indian J. Pure Appl. Math.35(9) (2004), 1047-1062.
- [2] N. D. Baruah, *Modular equations for Ramanujan's cubic continued fraction*, J. Math. Anal. Appl. 268(1) (2002), 244-255.
- [3] N. D. Baruah, *On some of Ramanujan's Schläfli-type mixed modular equations*, J. Number Theory. 100(2) (2003), 270-294.
- [4] B. C. Berndt, *Ramanujan's Notebooks, Part III*, Springer, New York. (1991).
- [5] B. C. Berndt, *Ramanujan's Notebooks, Part IV*, Springer, New York. (1996).
- [6] M. S. M. Naika, S. Chandan Kumar, K. Sushan Bairy, *Modular equations for the ratios of Ramanujan's theta function and evaluations*, New Zealand Journal of Mathematics. 40 (2010), 33-48.
- [7] S. Ramanujan, *Notebooks (2 Volumes)*, Tata Institute of Fundamental Research, Bombay. (1957).
- [8] K. R. Vasuki and T. G. Sreeramamurthy, *A note on P-Q modular equations*, Tamsui Oxf. J. Math. Sci. 21(2) (2005), 109-120.
- [9] K. R. Vasuki and B. R. Srivatsa Kumar, *Evaluation of the Ramanujan-Gollnitz-Gordon continued fraction  $H(q)$  by modular equations*, Indian J. Mathematics. 48 (2006), 275-300.
- [10] J. Yi, *Theta-function identities and the explicit formulas for theta-function and their applications*, J. Math. Anal. Appl. 292 (2004), 381-400.
- [11] B. R. Srivatsa Kumar, A. K. Rathie, N. V. Sayinath Udupa, Shruthi, *A note on modular equations of signature 2 and their evaluations*, Communications of the Korean Mathematical Society. 37(2022)(1), 31-43. <https://doi.org/10.4134/CKMS.C200459>
- [12] Saikia, N., Chetry, J., *Some new modular equations in Ramanujan's alternate theory of signature 3*, Ramanujan J. 50(2019),163-194. <https://doi.org/10.1007/s11139-018-0115-7>

DEPARTMENT OF MATHEMATICS, DR. P. DAYANANDA PAI-P. SATISHA PAI GOVERN-  
MENT FIRST GRADE COLLEGE CAR STREET, MANGALORE, DAKSHINA KANNADA, INDIA.  
*Email address:* [mdmohandasram@gmail.com](mailto:mdmohandasram@gmail.com)